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Fiaeh 4.2 FIEREMEESEFISCIR

FirrRIREFFE

- WBERKTUAKRNFRE , B=MERE
1. A S[0] fE9iCREBIKHIFEERTT (Pascal)
- A IRH T BHNRAIKEAGEET256
2. NEFAERERIKE | BREE—MFERMS
- IR BIREAKE—REFSEEN , AESHIE
A=A
3. A—MMEAHRAUARERS \O” (C/C++)
- f5lgn . C/C++1ESHY string BRAEYE ( #include
<string.h> ) KBX—{FE54
- \O" B ASCII =FRRHPRSH 0, FMFEE NULL,
M=z 0, B8 false
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private: // BLIIRFrTHFHEN

char *str; // FRIEEIERT<
int size; // EBEIZPAIH<E

flan
String s1 = "Hello";
/private: )
char *str; —> [ H | e | | o | \0

int size; //15?3_5
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. BRI
- int strlen(char *s);
. 54
har *strcpy(char *s1, char*s2);

C
== A
== ¥

1S4
- char *strcat(char *sl1, char *s2);

- BB

- int strcmp(char *s1, char *s2);
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// KEFGERHE
int strlen(char d[ ]) {
inti=0;
while (d[i] I= "\0’)
1++;
return i;

§
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// FrrEERIEE!
char *strcpy(char *d, char *s) {
inti=0;
while (s[i] 1= "\0") {
dli] = s[i]; i++;

}
d[i] = "\05
return d;
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// FREBIILLER

int strcmp(const char *s1, const char *s2) {
inti=0;
while (s2[i] '="\0" && sl1[i] I="\0") {
if (s1[i] > s2[i))
return 1;
else if (s1[i] < s2[i])
return -1;
1++;
}
if (s1[i] == "\0' && s2[i] !="\0")
return -1;
else if s2[i] == "\0' && s1[i] |="\0")
return 1;
return O;
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int strcmp_1(char *s1, char *s2) {
int i;
for (i = 0; s1[i] == s2[i]; ++i) {
if(s1[i] == "\0' && s2[i] == ‘\0")
return O; // BN FERTEREZE

}

/] T, WRE— RN

return (slli]-s2[i]) / abs(s1][i]-s2[i]);
}
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// &R E(constructor)

String::String(char *s) {
// FeRER R LR eI E=E |, shYRELH(char ),
// VE/hEIF R R E. HESHIKE , ANEFRIEREL
// strlen(s)it&KE

size = strlen(s) ;

// PAlE | IS FEXETFR—R=TE |, BFFEVIES |, B4R
// FrRIBEiEHEHE

str = new char [size+ 1];

// FRF=IBIARIORY | 1Iz1TRE | 1B

assert(str = NULL);

// FtNEFFRFEBRREstrepy |, st EHEfEE strATisRIFE=IE
strcpy(str, s);
}
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// TrEEREN

String::~String() {
// ISR =S E]
delete [] str;

}
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String RIzHAYSEIN
// FR{EEE

String String::operator= (String& s) {
// BE s BHEERIAE,
// EABRBERMsHEBEIRAR , WNIZEFERAERY
//SUTFEDE , FAREIZE
if (size != s.size) {
delete [] str; // BERRFESE
str = new char [s.size+1];
// EITRENSFETERN , MEHIERET
assert(str = NULL) ;
Size = s.size;
}

strcpy(str , s.str);
// IRBIAZLA , YEStringZEA9— L4
return *this;
}
. 12 SKER (BB S EIE)
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B . StringhhElF R

. 82 = s1.Substr(6, 5) ;

/private: \
char *str; >
int size; //1HN11

o Y

L [private: \
char *str; — =———t—>
int size; //{H N5

L Y
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